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3.- Let A =  ቂ2 −53 −2ቃ    Compute 3I2 – A and (3I2)A.

  Solution:

 3I2 - A

       3 ቂ1 00 1ቃ − ቂ2 −53 −2ቃ = ቂ3 00 3ቃ − ቂ2 −53 −2ቃ = ൤3 − 2 0 − (−5)0 − 3 3 − (−2)൨ =
         ቂ 1 5−3 5ቃ   

 (3I2)A

3 ቂ1 00 1ቃ ቂ2 −53 −2ቃ = ቂ3 00 3ቃ ቂ2 −53 −2ቃ      
   

= ቂ3.2 + 0.3 3. −5 + 0. −20.2 + 3.3 0. −5 + 3. −2ቃ = ൤6 + 0 −15 + 00 + 9 0 + (−6)൨ = ቂ6 −159 −6 ቃ



5.- Compute the product AB in two ways : a) by the definition, where 
Ab1 and Ab2 are computed separately, and (b) by the row-column rule 
for computing AB.

A =   ൥−1 32 45 −3൩       B = ቂ 4 −2−2 3 ቃ     

                                     

Ab1 = ൥−1 32 45 −3൩ ቂ 4−2ቃ=൥ −1.4 + 3. −22.4 + 4. −25.4 + (−3). −2൩=൥−4 + (−6)8 + (−8)20 + 6 ൩ = ൥−10026 ൩                            

                                                     

Ab2 = ൥−1 32 45 −3൩ ቂ−23 ቃ=൥ −1. −2 + 3.32. −2 + 4.35. −2 + (−3). 3൩=൥ 2 + 9−4 + 12−10 + (−9)൩= ൥ 118−19൩                    

                                                               

AB = ൥−1 32 45 −3൩ ቂ 4 −2−2 3 ቃ = ൥ −1.4 + 3. −2 −1. −2 + 3.32.4 + 4. −2 2. −2 + 4.35.4 + (−3). −2 5. −2 + (−3).3൩

                               = ቎−4 + (−6) 2 + 98 + (−8) −4 + 1220 + 6 −10 + (−9)቏
  

                                               = ൥−10 110 826 −19൩


